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X mE #E 2 2 4 2 (M 1 0) 3 (1] 0.75 | 1.00
NRy biR—)L 2 2 3 (2) 3 (2)| 1.50 | 2.50
NL—HR—)L 3 3 8 2) 8 )| 2.67 | 2.67
&t 9 2 (1) 12 (4) 14 (5)| 1.56 1.89
= L% NL—FR—JL 3 3 8 (4) 8 (4 2.67 | 0.33
IR R fE = Fr Ik 3 3 19 (5) 19 ()| 6.33 | 5.33
Yyh— 3 3 10 3) 10 3)] 3.33 6.33
ERT 1 1 0 (0) 0 (0)[ 0.00 | 1.00
IRy kR—IL 3 2 5 9 3) 4 (0) 13 3)| 2.60 | 3.80
NL—HR—)L 3 3 4 (1) 4 (1) 1.33 | 0.67
B b B4R BxbHd 4 )] 5 3 12 (4] 3.00 | 1.75
&t 19 4 (12) 13 (4) 58 (16)| 3.05 3.37
B’ Yyh— 2 2 14 2) 14 (2)[ 7.00 | 3.50
ZUE— 2 2 5 (1) 5 (1)| 2.50 | 2.00
&t 4 19 (3) 19 3)| 4.75 2.75
ERI (EERD F:E 3 3 2 M 2 (1)] 0.67 [ 1.00
Yyh— 3 3 14 (4) 14 4)| 4.67 3.67
&t 6 14 (4) 2 (1) 16 (5)| 2.67 2.33
&l PN X Fr Ik 2 2 4 (2 4  (2)] 2.00 | 4.00
NRy biR—)L 4 4 15 (0) 15 0)| 3.75 2.75
&t 6 19 (2) 19 @) 38.17 3.17
AN &g Bx@HT 3 1 (1) 1 (0) 2 (1)| 0.67 | 0.33
A BxEbHd 3 1 1) 1 (0) 2 (1)] 0.67 | 0.00
HA kK 4 4 2 (2) 2 (2)| 0.50 | 0.25
&t 10 4 @4 2 0 6 (4] 0.60 [ 0.20
BE& BE BBk 3 3 6 @ 6 (3] 2.00 | 0.67
INR7y kR—IL 3 3 6 4 (1) 6 (1) 10 2| 1.67 | 2.00
&t 9 10 (4) 6 (1) 16 (B)[ 1.78 1.56
XH P EE S BxEHT 3 () 1 (0) 1 0)| 0.33 | 0.00
fE = Fr ok 3 3 5 (1) 5 (1)| 1.67 | 0.67
NL—HR—)L 3 3 6 0 (0) 2 ) 2 (2)| 0.33 | 0.50
&t 12 5 (1) 3 (2) 8 (3)| 0.67 | 0.42
M X} BxbHd 2 1 0 0 1 (0)| 0.50 | 0.50
g5 = Fr Ik 3 3 12 (4) 12 (4)| 4.00 | 2.33
F7IU—T42T 3 3 11 (5) 11 ()| 3.67 | 3.00
&t 6 12 (4) 11 (5) 23 (9 3.83 2.67
HEA FmE A BxEHd 3 0 (0 1 (0) 1 0)| 0.33 | 1.67
= Fr Ik 6 6 4 (0) 4 0)| 0.67 1.50
&t 9 4 (0 1 (V) 5 (0] 0.56 | 1.56
R NL—FR—)L 3 3 2 (0) 2 0)| 0.67 1. 67
N Ry bR—IL 2 2 3 (0) 3 (0)[ 1.50 | 1.00
B LKE BBk 3 3 19 @ 19 (4] 6.33 | 1.67
NR7y kR—IL 3 3 6 9 2) 9 (4) 18 6)| 3.00 | 3.17
5 9 28 (6 9 @] 31 (0| 4.11 | 2.67
¥ BEE FE BxEHd 3 5 (2 2 (O 7 (2)] 2.33 | 2.00
fE = Fr ok 3 3 10 (3) 10 (3)] 3.33 | 0.67
Yyh— 3 3 15 (4) 15 (4)| 5.00 | 3.67
NRy bR—)L 2 2 4 4 (2) 5 (2) 9 (4)| 2.25 | 2.25
&t 13 34 (1 1 (2) 41 (13)] 3.15 | 2.15
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¥ REE = Fr Ik 3 3 5 @ 5 (4] 1.67 [ 1.33
Yoh— 3 3 5 (0) 5 0)[ 1.67 | 2.00
&t 6 10 (4) 10 4)| 1.67 1.67
it it EE S BxEHT 6 5 (0 18 (0 23 (0)| 3.83 | 4.00
BBk 4 | 4 7. 7 (M| 1.75 | 1.50
Kik BxEHT 2 5 (0 0 (O 5 (0)] 2.50 [ 1.50
&t 12 17 (1) 18 (0) 35 N[ 2.92 2.75
25 25 Yoh— 3 3 10 (6) 10 6)| 3.33 1.67
IRy kR—IL 2 2 4 3 (0) 4 2) 1 2] 1.75 1.50
EST Bx@EHT 2 3 (1) 0 (0) 3 (1)[ 1.50 | 0.50
&t 9 16 @ 4 @ 20 (9 2.22 | 1.33
XR BBk 3 3 11 (5) 11 ()| 3.67 | 3.00
IRy kiR—IL 3 3 6 1 (5) 3 2) 10 (1| 1.67 | 0.50
NL—HR—)L 3 3 3 2) 3 (2)| 1.00 | 2.33
B b B4R BxbHd 3 6 (2 2 8 (3] 2.67 | 2.00
&t 15 24 (12) 8 (5) 32 (an| 2.13 1. 67
w45 g E Bk 4 4 10 3) 10 (3)] 2.50 | 4.25
NRy bR—)L 5 5 8 2) 8 (2)| 1.60 | 1.40
B b B4R BxbHd 6 9 @ 5 (1) 14 (5] 2.33 | 1.83
&t 15 19 (1) 13 (3) 32 (10)[ 2.13 2.33
=5 #E BT 3 3 O 2 M 5 (1)] 1.67 | 0.33
fE = Fr Ik 3 3 10 (2) 10 (2)| 3.33 | 2.00
Yyh— 3 3 1 2) 1 2] 2.33 | 4.33
VIbT=R 2 2 4 (0) 4 0)[ 2.00 | 1.50
INR7y kR—IL 3 3 6 17 (5) 4 (1) 21 6)| 3.50 | 1.33
NL—HR—)L 3 3 11 (2) 11 2)| 3.67 0.67
B b B4R BxbHd 2 3 M ()] 3 (1)] 1.50 [ 2.00
&t 22 4 (10 17 (4) 61 (4] 2.77 1.68
13 AH Yyh— 4 4 18 ) 18 ()] 4.50 | 4.00
INRy biR—)L 3 3 5 (3) 5 (3)| 1.67 | 2.00
SUE— 2 2 5 (3) 5 (3)[ 2.50 | 1.00
&t 9 28 (13) 28 (13)| 3.11 2.21
& R Fr Ik 3 3 1 (1) 1 (1) 0.33 | 2.00
NRy bR—)L 3 2 5 3 (1) 5 (1) 8 (2)| 1.60 | 2.00
NL—HR—)L 2 2 3 (0) 3 0)[ 1.50 | 1.00
&t 10 4 (2) 8 (1) 12 (3)[ 1.20 | 1.80
*E EJPE] 3 3 6 3 (0) 0 (0) 3 (0)| 0.50 | 0.67
R Fr Ik 3 3 1 (0) 1 0)[ 0.33 | 0.67
Yoh— 3 3 8 (3) 8 3)| 2.67 1.00
INRTy kR—IL 3 3 1 ) 1 )] 2.33 1. 67
&t 15 19 (5) 0 (0) 19 (k)| 1.27 0.93
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BiL BiL Hyh— 3 3 10 4) 10 4)| 3.33 2.67
INRHT Y RR—)L 3 3 16 3) 16 (3)| 5.33 2.00
[ o253 EEdiitekl 3 4 (0) 3 (1) 7 (1)] 2.33 | 1.00
HI 9 30 @) 3 1) 33 (8)| 3.67 1.55
BIFH B EFEk 6 6 14 (%) 14 %) 2.33 0.67
ik EE-diibekxa 4 1 0) 0 0) 1 0)| 0.25 1.00
NL—R—JL 4 L 3 1 9 (2) 5 (0) 14 (2)| 2.00 1.57
fE LR EE-diibekxa 5 9 4) 0 0) 9 4)| 1.80 1.40
&t 22 33 (n 5 (0) 38 (N 1.1713 1.13
BIFE MR BLEHT 2 0 (0 0 (0 0 (0] 0.00 | 0.00
B EFEk 3 3 1 3) 11 (3)| 3.67 2.33
INL—R—)L 2 2 3 M 3 (1| 1.50 1.00
&t 1 11 (3) 3 (1) 14 (4] 2.00 | 1.29
BIKE WREE BLfHT 4 1 (0) 2 (0) 3 0)] 0.75 | 0.25
[ o 5253 EEdiitekl 4 2 (0) 0 (0 2 (0)] 0.50 [ 0.75
iz &Rk BLfHT 2 0 (0 1 (0) 1 (0)] 0.50 | 0.50
&t 10 3 (0) 3 (0) 6 (0)] 0.60 | 0.50
L B EER 5 5 6 (2) 6 @) 1.20 0. 60
INRT Yy RR—JL 5 5 5 M 5 (1)| 1.00 0.00
HI 10 6 (2) 5 4] 11 3)| 1.10 0.30
B BERE B EEk 4 4 11 (2) 11 (2)] 2.75 | 2.75
Hyh— 5 5 16 M 16 M| 3.20 3.40
&t 9 27 3) 27 (3)| 3.00 2.73
[EaE=A Hyh— 3 3 20 4] 20 (1)| 6.67 7.00
AR IR B EFEk 2 2 9 M 9 (1)| 4.50 6.00
Y2 biRk—IL 2 2 4 QD) 4 (1| 2.00 1.00
INRT Y RR—JL 3 3 3 (0) 3 0)| 1.00 2.67
INL—R—JL 3 3 1 QD) 1 (1| 0.33 1.33
N2 FR—IL 3 3 4 (2) 4 (2)| 1.33 0.00
HIr 13 13 3) 8 (2) 21 (5)| 1.62 2.00
B gl3E EESTERES 5 1 (0) 0 (0 1 (0)] 0.20 | 0.20
INE B EER 2 2 15 4) 15 4)| 7.50 6. 00
NRT Y RR—JL 2 2 4 15 3) 5 3) 20 (6)| 5.00 2.00
INEFEU by 3 3 6 5 M 9 M 14 2)| 2.33 2.00
N FiR—JL EEdiitekl 2 1 (0) 0 (0 1 (0)] 0.50 | 1.50
HI 14 36 (8) 14 4) 50 (12)| 3.57 2.50
edl AR EESTEeED 2 1 (0) 2 (0) 3 (0)] 1.50 | 1.00
g3E BxEHT 6 5 (1) 1 (0) 6 (1)] 1.00 | 0.50
B EFEk 5 5 5 (0) 5 0)| 1.00 1.60
HI 13 11 1) 3 (0) 14 (1)| 1.08 1.00
FLEE Hyh— 2 2 3 M 3 (1)| 1.50 4.50
B EER 2 2 1 M 1 (1| 3.50 3.00
BELFRE EEdiitekl 2 8 (2) 1 (0) 9 (2)|] 4.50 | 0.50
Bl | 6 18 @ ) 19 @] 3.17 | 2.67
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INEF FE (T8EF) EE S BxEHT 6 3 M 15 (2 18 ()] 3.00 [ 3.83
fE = Fr Ik 6 6 11 (4) 11 (4)| 1.83 | 2.50
Yyh— 4 4 11 (4) 11 4| 2.75 4.25
BE_E BRI BxEHT 3 3 (0) 1 (0) 4 (0)[ 1.33 | 2.00
&t 19 28 (9) 16 (2) 4  an| 2.32 3.21
NEFI Wegs 2 Bx@HT 2 0 (0) 2 (0) 2 0)[ 1.00 | 1.00
E B ek 4 4 16 2) 16 2)| 4.00 1.00
Yyh— 2 2 4 (1) 4 (1)[ 2.00 | 1.00
&t 8 20 @® 2 © 22 (3| 2.75 | 1.00
ExX&H EE S BxEHT 4 2 8 4 10 (5] 2.50 [ 1.50
= Fr Ik 5 5 9 3) 9 (3)| 1.80 | 3.40
NRTy bR—)L 3 3 3 (1) 3 (1)[ 1.00 | 1.33
Yyh— 3 3 4 (0) 4 0 1.33 | 2.33
BE LR (hRIEEE) 3 3 1 (0) 1 (0)[ 0.33 | 0.33
&t 18 16 (4) 11 (5) 21 (9)[ 1.50 1.94
wmas (Ear) F:E BxEHT 3 L)) 0 (O 4  (2)] 1.33 | 1.67
R Fr Ik 3 3 6 (1) 6 (1) 2.00 | 0.67
Yyh— 3 3 8 (2) 8 (2)| 2.67 | 4.00
&t 9 18 & 0 O 18 (5] 2.00 [ 2.09
i5ias] e NL—HR—)L 3 3 4 (0) 4 )| 1.33 1.67
NV FR—IL BxbHd 3 2 (O 2 O 4 (0)] 1.33 [ 1.00
&t 6 2 (0) 6 (0) 8 0)| 1.33 1.33
[k eFitl INRTy kiR—IL 2 2 5 (1) 5 (1) 2.50 | 3.50
NV FR—)L 2 2 4 1 (1) 3 (0) 4 (1)[ 1.00 | 1.50
Z7E— 3 3 5 (1) 5 (M| 1.67 1.33
&t 9 11 (3) 3 (0) 14 (3)| 1.56 1.89
FFRER R Fr Ik 5 5 5 (0) 5 0)[ 1.00 | 1.20
Yyh— 4 4 22 (3) 22 (3)| 5.50 | 2.25
INR7y kR—IL 4 4 11 3) 11 3)| 2.75 1.50
AN et i 2 4 4 12 (1) 12 (1) 3.00 1.75
&t 17 21 (3) 23 (4) 50 (] 2.94 1. 65
INE INET Wes 2 BxRHT 4 1 (1) 1 (0) 2 (1)[ 0.50 | 0.50
R Fr Ik 6 6 9 2) 9 (2)| 1.50 | 1.00
V7 hR—L 1 7 6 2) 6 (2)| 0.86 1.29
SUE— 2 2 0 (0) 0 0)[ 0.00 | 1.00
INRy biR—)L 2 2 8 (2) 8 (2)| 4.00 | 3.00
&t 21 18 (5) 1 (2) 25 M] 1.19 1.19
INER BBk 2 2 12 @ 12 (2)] 6.00 [ 1.50
Yyh— 2 2 4 2) 4 (2)| 2.00 | 3.00
Ry bR—)L 3 2 5 4 (4) 3 (2) 1 (6)| 1.40 | 1.40
&t 9 20 (8) 3 (2) 23 (10)| 2.56 1.78
BE BE BBk 6 6 19 @ 19 @] 3.17 | 3.67
IRy kR—IL 3 3 6 12 ) 2 2) 14 4] 2.33 1.83
AN Pt i 2 3 3 3 (2) 3 (2)| 1.00 | 1.33
5 15 3 () 5 @] 36 (9] 2.40 | 2.47
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BRATIL WA EE S BxEHT 3 V() 1 0) 1 0)| 0.33 | 0.67
fE = Fr Ik 3 3 2 (0) 2 0)| 0.67 1.00
Yyh— 2 2 1 (1) 1 (1) 3.50 | 1.50
NRTy bR—)L 2 2 11 (1) 11 (1)| 5.50 | 3.50
NFEV Y BxEbHd 4 1 (0) 4 (0 5 (0] 1.25 | 2.75
BE_E BRI BxEHT 2 2 (0) 0 (0) 2 (0)[ 1.00 | 0.00
&t 16 23 (2) 5 (0) 28 )] 1.75 1.67
HEAILTE fE = Fr Ik 3 3 1 (0) 1 0)| 0.33 1.33
Yyh— 3 3 4 ) 4 @] 1.33 | 2.33
&t 6 5 (2) 5 (2)| 0.83 1.83
BE BE ] BxEHd 3 0 (0 2 O 2 (0] 0.67 | 0.67
fE = Fr ok 4 4 5 (1) 5 (1) 1.25 1.00
Yyh— 4 4 10 3) 10 3)| 2.50 2.00
NL—HR—)L 3 3 3 (3) 3 (3)[ 1.00 | 1.33
B bRt (PRIERE) BxEbHd 3 2 (0 1 (0) 3 (0] 1.00 [ 1.00
&t 17 17 (4) 6 (3) 23 (7| 1.35 1.24
RnI BI = Fr Ik 3 3 16 3) 16 (3)| 5.33 | 3.00
Yyh— 3 3 17 (3) 17 (3)| 5.67 | 4.67
&t 6 33 (6) 33 (6)| 5.50 3.83
BAH B’A# BRXT=R 2 2 0 (0) 0 (0)[ 0.00 | 2.00
R Fr Ik 2 2 4 (1) 4 (1| 2.00 | 1.50
Yyh— 2 2 18 (5) 18 (B)| 9.00 | 6.00
INR7y kR—IL 2 2 8 (1) 8 (1)| 4.00 | 5.00
NL—HR—)L 2 2 4 2 (0) 4 (1) 6 (1)[ 1.50 | 1.00
NV FR—L BxEbHd 4 2 M 1 (0) 3 (1] 0.75 | 1.25
B _E BRI Bx@EHT 3 6 (1) 2 (0) 8 (1)| 2.67 | 2.00
&t 19 40 (9) 1 (1) 47  (10)| 2.47 2.32
RAHME fE = Fr Ik 3 3 3 (1) 3 (1)[ 1.00 | 3.33
Yyh— 4 4 9 (4) 9 (4)| 2.25 | 4.25
Kik BxEHT 2 3 M 2 M 5 (2)] 2.50 | 3.50
INRTy kR—IL 2 2 4 11 (6) 1 (0) 18 (6)| 4.50 | 5.50
&t 13 26 (12) 9 (1) 35  (13)] 2.69 | 3.80
bt ] by R Fr Ik 2 2 L)) 8 (3)] 4.00 [ 2.00
VIbT=R 2 2 4 1 (1) 3 (2) 10 (3)| 2.50 | 2.75
IRy kR—IL 2 2 1 (1) 1 (1)[ 0.50 | 0.50
&t 8 15 (4) 4 (3) 19 (1| 2.38 1.70
RABK AB KA EJBC BxEHd 4 () 0 0 (0] 0.00 [ 1.25
fE = Fr ok 4 4 5 (1) 5 (1| 1.25 1.25
IRy kR—IL 4 4 9 (4) 9 (4)| 2.25 | 2.00
&t 12 5 (1) 9 (4) 14 ®)| 1.17 1.50
HEAW REsl R Fr Ik 4 4 5 (2 5 (2)] 1.25 | 1.25
Yyh— 4 4 13 (5) 13 (B)| 3.25 | 2.40
NL—HR—)L 2 2 3 (0) 3 0)[ 1.50 | 1.00
&t 10 18 ) 3 (0) 21 M1 2.10 1. 36
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EH:JET*T% %*X% (%*‘I’) W‘e‘ (*EE%) %¥ t% E_[_ %¥ t; E_l_ {%g -ﬁ‘ﬁﬂa %¥ t; E
BF BFt [EE 4 4 4 2 4 (] 1.00 | 0.00
Hyh— 4 4 3 M 3 (1| 0.75 | 0.00
it 8 1 [©)) 1 (3)] 0.88 | 0.00
HEDHH HBH FE B&lEhHd 3 0 (0) 0 (0) 0 ©)| 0.00 [ 0.33
BxXT=R 1 1 10 1 (0] 1.00 | 0.00
X BBk 2 2 0 (O 0 (0| 0.00 | 0.00
Hyh— 2 2 3 O 3 (| 1.50 | 0.00
INR5y kik—)L 2 2 1 1 (0)] 0.50 | 0.00
ESSiEs iR ER-dikekD 3 0 (0) 0 (0) 0 0)| 0.00 -
£t 13 4 (0 1 5 (] 0.38 | 0.10
FERER [2F 3 Br=X 2 2 2 ) 2 (1| 1.00 1.50
X BBk 3 3 7 7 M| 2.33 | 1.33
B3l ER-di5kekD 3 1 (0) 2 (0) 3 )| 1.00 1.33
NL—AR—L 3 3 [C)) 1 ()] 0.33 | 0.67
fE L ERER Ek-dikekD 3 1 (0) 0 (0) 1 0)| 0.33 1.67
£t 14 [NI)) 3 14 3] 1.00 | 1.29
7’ B EFEk 4 4 5 ) 5 (M| 1.25 1.25
Hyh— 4 4 ) 8 (3| 2.00 | 2.00
V2 bAR—L 4 4 3 M 3 (W] 0.75 | 0.50
IRy kik—)L 3 3 5 @ 5 @ 1.67 | 1.33
NL—HR—JL 1 1 4 (0 4 (| 4.00 | 1.33
£t 16 13 @ 12 () 25 (D] 1.56 | 1.28
IR EINNCANES ) #8 1 1 1 ) 1 (1| 1.00 1.00
Hyh— 1 1 1 1 (0] 1.00 | 3.00
it 2 1 (0) 1 4] 2 ()| 1.00 | 2.00
=H =[JIl g& B&lEhHT 3 2 (2) 1 D) 3 @3)| 1.00 [ 0.00
Hyh— 3 | 3 3 @ 3 @ 1.00 | 2.33
ZiE BLbHd 3 5 (D 1 6 (1) 2.00 | 1.00
NRYy kR—)L 2 2 2 O 2 (| 1.00 | 1.00
NL—AR—L 2 2 5 (0 5 (0| 2.50 | 1.00
= 13 12 (5 7 19  (6)] 1.46 | 1.08
XHE EJE Hyh— 4 4 4 @ 4 @ 1.00 | 2.25
NRY Y kR—)L 2 2 3 (O 3 (0| 1.50 | 2.50
NL—AR—L 3 3 5 (0 5 (| 1.67 | 1.33
fE L ERER Ek-dikekD 1 1 (0) 0 (0) 1 )| 1.00 | 4.00
& 10 8 @ 5 (0 13 @] 1.30 | 2.20
i RE E BLfhHd 3 2 (0) 1 (0) 3 )| 1.00 1.33
Hyh— 5 5 17 17 (@] 3.40 | 0.80
NRYy kR—)L 4 4 6 (0 6 (0] 1.50 | 1.50
g 12 2 (O 24 (4 26 W] 2.17 | 1.17
R WwRIEEE &8 BLfhd 3 1 M) 1 (0) 2 (1)| 0.67 2.00
BE KRR ES0 B&lEhHd 20 18 (6) 42 (1) 60 (7)) 3.00 | 2.30
EEA L £k #8 BLfhHd 4 3 (0) 0 (0) 3 )| 0.75 2.25
X BBk 4 4 5 @ 5 @) 1.25 | 1.50
NR5y kik—)L 3 3 9 (0 9 (0] 3.00 | 3.67
E L (PR EERE) ER-dikekD 3 0 (0) 1 4] 1 (1) 0.33 1.33
£t | 14 G 10 (D 18 4] 1.29 | 2.14
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N ; e EL YN it 24K 35t a
X 3 =) o =R o3 - _
EH:JET*T% %*X% (%*‘I’) Wﬁ“ (*EE%) %¥ t% E_[_ %¥ t; E-l- {%g -H\-ﬁﬂa %¥
IR EHIE (Hewh) R EPER 1 1 0 (0) 0 0)[ 0.00 | 0.00
(BBE) B Ek 1 1 1 (0) 1 0)[ 1.00 | 3.00
(BR) X Frik 2 2 9 (0) 9 (0)| 4.50 | 0.50
(%) EXEF Bk 1 1 1 (0) 1 (0)[ 1.00 | 0.00
IRy kR—IL 2 2 3 (0) 3 0)[ 1.50 | 1.00
&t 1 14 (0) 14 (0)[ 2.00 | 0.86
HEA WEeEIH X Fr Ik 10 10 10 (1) 10 (1)] 1.00 [ 1.20
INRy biR—)L 3 3 5 (1) 5 ()| 1.67 | 2.33
&t 13 15 (2) 15 )] 1.15 1.46
it BT i B Bk 5 5 (V) 0 (0] 0.00 [ 0.60
il FITZE Bk 2 2 1 (0) 1 (0)[ 0.50 | 0.00
EST 2 2 0 (0) 0 (0)[ 0.00 | 0.00
INR7y kR—IL 2 2 3 (1) 3 (1) 1.50 | 2.50
STE— 2 2 1 (0) 1 (0)| 0.50 | 0.00
&t 8 5 M 5 (1)] 0.63 [ 0.63
FF T HE = Ep 3k 7 7 14 1) 14 (1] 2.00 [ 2.00
BT H ETHI % PR BExEHT 4 10 (O 0 © 10 (0] 2.50 -
BE ZETE EJBC BxEHd 5 3 (0 1 (0) 4 (0)] 0.8 [ 1.20
(- EX-RRLED) B Bk 5 5 ) 8 (1)] 1.60 [ 1.60
&t 10 11 (1) 1 (0) 12 [ 1.20 1.40
IR HEITX () 1= FF Bk 1~2 1~2 3 O 3 O - -
(32EE) i EPER 1~2 1~2 0 (0) 0 (0) - -
(#hh L) L Frak 1~2 1~2 3 M 3 M - -
MNEE 5 5 6 (1) 6 (1) 1.20 | 0.40
(W) NFSU Y BxEHT | 0~1 0 0 (O o O - -
(BEE)NFIUbY BXEHT | 0~1 0 ()] 0o O - -
(BHIFE)NFIV Ry BxEHT | 0~1 1 (0) 0 (O 1 ] - -
NEE BxEbHd 2 1 (0) 0 1 0)| 0.50 | 0.00
&t 1 1 (1) 0 (0) 1 (1)[ 1.00 | 0.29
= =
O8%Y kA —FEEL: |55p_
JRET AT 5y 2 2 o O 0 (] 0.00 | 0.00
IR okt X5} BEHE BxEbHd 3 0 0 O 0 (0] 0.00 [ 2.33
N BRIl BRI CESGEeks 3 2O 1O 3 (0] 1.00 | 1.00
i PASES NRTy bR—)L BxEbHd 6 5 (0 2 @ 7 M 117 | 1.17
"5 FErmEE BBk 3 3 2 (0 2 (0] 0.67 | 0.33
V7 rER—L 2 2 0 (0) 0 0)[ 0.00 | 1.00
INRy biR—)L 2 2 3 (0) 3 (0)[ 1.50 | 0.50
&t 7 (V) 3 O 5 (0] 0.71 | 0.44
X H pN:EL EEK BLxEHT 5 11 1) 4 15 ()] 3.00 [ 2.20
£5 FE REE BxEHT 7 1) 14 (5 19 (6] 2.71 | 2.86
ESRR BxEHT 2 1 (0) 3 (0) 4 0)[ 2.00 | 4.50
N—FR—L 4 | 4 6 @ 6 (@] 1.50 | 1.75
&t 13 6 (1) 23 (1) 29 (8) 2.23 2.71
=H % EES BxbHd 2 0 2 (M 2 (1] 1.00 | 1.00
NEF NEFEE W50 SERES k5 BEEHT 2 0 0 0 (0] 0.00 [ 2.50
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N . e EEAE RS

X 3 =) o =R o3 - _ —
X HET#t 4 iR a (FH) RE (EES) B7 | &7 o = = BEE [ A
B EiEha EIbE BLlbhd | 3 2 3 M 5 (3] 1.67 [ 0.25
Hyh— 3 3 6 (0 6 (0 2.00 | 4.00
& TS BLlbhds | 2 1 () ) 9 (0] 4.50 | 2.00

ERIx Baibhs | 2 0 2 (0 2 (0] 1.00 -
£t 10 3@ 19 M 22 (3] 2.20 | 1.89
AH DIFEHRE £ - THA Y B&fbhT | 2 1 8 @ 9 (@] 450 [ 2.00
NRTy kR—IL Bhlbhs | 4 6 (@ 3 O 9 @] 2.25 | 1.50
REEBEEL BLiibhd | 4 3 2 (O 5 (| 1.25 | 1.50
£t 10 [(G) 13 @ 23 (5)] 2.30 | 1.60
HESD HAAKE Hyh— 2 2 2 2 (M| 1.00 | 1.00
TR BLlbhd | 2 5 (0 6 (0 11 (0] 5.50 | 5.00

=1 Baibhd | 2 1 5 (0 6 (0)] 3.00 -
£t 6 6 (0 13 19 (] 817 | 3.00
i Bine JETS B&fbhT | 4 3 M 4 (0 7 M| 1.75 ] 0.75
Hyh— 2 4 6 3 M 6 () 9 (@ 1.50 | 2.67
IRy bR—IL 5 5 6 (D 6 (] 1.20 | 1.20
NL—HR—L 2 2 4 (0 4 (0] 2.00 | 2.50
£t 17 6 @ 20 (2 26 (4] 1.53 | 1.76
it EFFRE E1f EECEPER 2 () 2 (0 2 (@] 1.00 [ 2.00
X BBk 3 3 RO 7 @] 2.33 | 2.33
PEPPvi Bhlbhd | 2 () 0 O 0 (0] 0.00 | 1.50
£t 7 7@ 2 O 9 @] 1.29 | 2.00
Hi EBRe &8 BLlbHhT | 6 2 M 5 (3 7 @] 117 [ 1.33
Y7 kh—L 4 4 1 1 (0] 0.25 | 1.50
NRFy kR—IL 4 4 4 (3 4 (3] 1.00 | 2.25
INL—Hh—IL 3 3 3 3 (M| 1.00 | 0.33
BE LS BLlbhd | 3 1 O 2 ()] 0.67 | 1.00
£t 20 3 14 () 17 (9] 0.8 | 1.35
BTH FTHEKE NI 3 3 6 5 O 6 (O] 1.00 [ 1.17
HAEX HABARE Hyh— 5 5 36 (5 36 (5)] 7.20 | 8.60
ek EERE Hyh— 4 4 [O) 1 (] 0.25 [ 0.25
IRy bR—IL 2 2 5 (0 5 (0)| 2.50 | 0.00
BE L E BLlbhd | 6 4 @ 1 () 5 (2] 0.83 | 0.67
£t | 12 9 @ 2 (0 11 (2] 0.92 | 0.42
At 016 [ 1,242 (304)] 527 (123)] 1,769 (427)[ 1.93 | 1.75
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